
MATH 108 - QUrZ r _ 26 JANUARY 2011

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justificatiorr, 

"u.r if they are correct, will earn no
credit.

1. (2 pts.) Find the domain of the function f (r\ : 12 + 5 
.r-2

A ir - | |Itt\ iAt nLtrnttalns X+A,

2. (2 pts.) Find s(f * 3) when g(t) : (2t - 6)2.

q ftr t) - (z[4r3) -6)LJ
- (zt+ G-6)"
= (zr)L - 4+

3. (3 pts.) Find all r and y intercepts of the function f(r) : 12 + 2r - g.

X- I'h+errceflls I Kz+zX-8-o
(,A-zXxr'f) : o

x=/ ,t 

^= 
-+ //

3 rnlercnfllr: q$fof=-t U=-fV
 . (3 pts.) Find an equation for the line passing through (2, b) and (0,4).

r-q =t u_4=*tn_4y[- ?" 2_

y= !x*4/
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Answer all of the following questions in the space provided. Show all work as partial
credit may be given' Answers without justificatior, 

",r"n 
if they are correct, will earn no

credit.

1. (2 pts.) Find the domain of the function g(t) : v/T=

Att ne,L[ nuq,r[-ans t al ,

2. (2 pts.) Find /(z * 1) when f (r) : x2 + 5.

{ tx +) = (x*i)'+ 5-

=xz+Lx+tril
=K2+2X+6 /

3. (3 pts.) Find all r and y intercepts of the function f(r) : 12 + r - 2.

X- tq+orre€pf s: xltX-l : o
(x- t)CK +t : Q

X:l) X= -L//
! > rq{Qrce /t ' $pj= -L W=*>/ . (3 pts.) Find an equation for the line passing through (2,0) and (-I,2).

w\= # --z/-L-r\ t $ ^o s -i t^ -')
JA-3^n!r


